
Converting Fahrenheit and Celsius (F)

5 °F = °C -21 °F = °C -42 °C = °F

49 °C = °F -125 °F = °C 8 °F = °C

88 °C = °F -74 °C = °F 53 °C = °F

47 °C = °F -55 °F = °C -52 °F = °C

-143 °F = °C -40 °C = °F -76 °C = °F

47 °C = °F 90 °F = °C 11 °C = °F

76 °C = °F 76 °F = °C -42 °F = °C

192 °F = °C 55 °F = °C 41 °F = °C

-40 °C = °F -41 °C = °F 53 °C = °F

-86 °F = °C 40 °F = °C 49 °C = °F

-85 °C = °F 96 °F = °C 5 °C = °F
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Converting Fahrenheit and Celsius (F) Answers

5 °F = -15 °C -21 °F = -29.44 °C -42 °C = -43.6 °F

49 °C = 120.2 °F -125 °F = -87.22 °C 8 °F = -13.33 °C

88 °C = 190.4 °F -74 °C = -101.2 °F 53 °C = 127.4 °F

47 °C = 116.6 °F -55 °F = -48.33 °C -52 °F = -46.66 °C

-143 °F = -97.22 °C -40 °C = -40 °F -76 °C = -104.8 °F

47 °C = 116.6 °F 90 °F = 32.22 °C 11 °C = 51.8 °F

76 °C = 168.8 °F 76 °F = 24.44 °C -42 °F = -41.11 °C

192 °F = 88.88 °C 55 °F = 12.77 °C 41 °F = 5 °C

-40 °C = -40 °F -41 °C = -41.8 °F 53 °C = 127.4 °F

-86 °F = -65.55 °C 40 °F = 4.44 °C 49 °C = 120.2 °F

-85 °C = -121 °F 96 °F = 35.55 °C 5 °C = 41 °F
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